Unit 3 Study Guide									Name _________________

Things you should know…
Slope formula: m =				Slope intercept form:

Parallel lines have _____________ slopes. 	Perpendicular lines have ________________ slopes.


1. Write the equation of a line that is parallel to y = 2x +11 and passes through the point (5, 2). 





2. Write the equation of a line passing through (-1, -4) and (5, 2).





3. Write the equation of a line perpendicular to the y-axis and containing the point (-7, 4).





4. The table shows the relationship between total sugar grams and total calories in a selection of soft drinks. 
[image: ]
Find the linear regression equation that models this data.






5. Nathaniel is a paperboy. He earns $12 each day he completes a route. He also earns $0.25 for every paper he delivers. Write an equation to model his earning.



[image: ]6. Stephen compared the y-intercept of the graph of the function f(x) = 4x + -7 to the y-intercept of the graph of the linear function that includes the points in the table below. What is the difference when the y-intercept of f(x) is subtracted from the y-intercept of g(x)?




[image: ]7.  The table below shows the distance a car has traveled. What is the meaning of the slope of the linear model for the data?







8. The table below shows the show size and age of 7 boys. Approximately what percentage of the boys’ ages is more than 1 year different from the age predicted by the line of best fit for the data?
[image: ]
A. 14%

B. 29%

C. 43%

D. 57%





9. The graph of a linear function has a y-intercept of -2 and passes through the point (4, 3). What is the slope of the graph of the function?





10. Write the equation x -3y = 21 in slope intercept form. 



11. Write the equation 18 – 2x +6y = 52 in slope intercept form. Identify the slope and y-intercept.



12. A delivery company charges a store one price per box, plus a fee for delivery.  What is the delivery fee the company charges?
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image1.png
Grams of sugar Total Calories

4 60
n 9
18 120
25 178
32 244

40 289
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Dennis compared the y-intercept of the graph of the function f(x) = 3x + 5 to
the y-intercept of the graph of the linear function that includes the points in the
table below.

x| g(x)
7] 2
5] 3
3] 4
1] 5

What is the difference when the y-intercept of f(x) is subtracted from the
y-intercept of g(x)?

A “11.0
B 9.3
Cc 0.5
D 5.5
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The table below shows the distance a car has traveled.

Minutes 25|50({75]100] 125
Distance '_I'raveled 204060 80 | 100
(in miles)

What is the meaning of the slope of the linear model for the data?

A

B
C
D

The car travels 5 miles every minute.
The car travels 4 miles every minute.
The car travels 4 miles every 5 minutes.

The car travels 5 miles every 4 minutes.
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The table below shows the shoe size and age of 7 boys.

Shoe Size | Age

-é-
| Dylan | o | 15 |

Approximately what percent of the boys’ ages is more than 1 year different from
the age predicted by the line of best fit for the data?

A 14%
B 29%
Cc 43%
D 57%
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Number of Boxes | Total Charge
1 $42
) $138
5 $170
10 $330
12 $394





